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3HPDKDPDQ�NRQVHS�PHUXSDNDQ�KDO� \DQJ�SHQWLQJ� GDODP�PHQHQWXNDQ� VLNDS�� FDUD�
PHQJDPELO� NHSXWXVDQ� GDQ� FDUD� PHPHFDKNDQ PDVDODK�� 1DPXQ�� GL� GDODP�
SHPEHODMDUDQ� GDULQJ�� WDQWDQJDQ� \DQJ� GLKDGDSL VLVZD VHPDNLQ EHVDU�� 6LVZD�
NHELQJXQJDQ�PHQJRPXQLNDVLNDQ NHVXOLWDQQ\D�NHSDGD�JXUX��VLVZD�NHVXOLWDQ�GDODP�
PHQJHUMDNDQ�ODWLKDQ�VRDO�GDQ�GDODP�PHQMDZDE�SHUWDQ\DDQ�GDUL�JXUX��2OHK NDUHQD�
LWX� JXUX� SHUOX� EHUSHUDQ� GDODP� PHPIDVLOLWDVL� VLVZD� PHPDKDPL� NRQVHS� GHQJDQ�
PHQJKDGLUNDQ� SHPEHODMDUDQ� \DQJ� EHUPDNQD�� 3UR\HN� DNKLU� LQL� GLWXOLV� GHQJDQ�
WXMXDQ� XQWXN PHQGHVNULSVLNDQ� SHQHUDSDQ SHPEHODMDUDQ� EHUPDNQD� VHFDUD� GDULQJ�
XQWXN�PHQGXNXQJ�SHPDKDPDQ�NRQVHS�VLVZD GHQJDQ�PHWRGH SHQHOLWLDQ�NXDOLWDWLI�
GHVNULSWLI�� 3HPDKDPDQ� NRQVHS� DGDODK VDODK� VDWX� DVSHN� GDUL� SHQGLGLNDQ KROLVWLN�
VHKLQJJD�NHWLND�SHPDKDPDQ�NRQVHS�WLGDN�WHUFDSDL�PDND�SHQGLGLNDQ�KROLVWLN�MXJD�
WLGDN�WHUFDSDL� 1DPXQ��VHWLDS�VLVZD�PHPLOLNL�NHPDPSXDQ�\DQJ�EHUEHGD�VHKLQJJD�
JXUX� WLGDN� GDSDW� PHPDNVD� VLVZD� XQWXN� DKOL� GDODP� PDWHPDWLND� GHQJDQ�
PHPSHUODNXNDQQ\D� VHEDJDL� LPDJH� RI� *RG \DQJ� GLFLSWDNDQ� XQLN� NHPXGLDQ�
PHQRORQJQ\D� PHPDKDPL� NRQVHS� VHVXDL� VWDQGDU� \DQJ� GLWHQWXNDQ�� +DVLO� \DQJ�
GLSHUROHK�SDGD�SDSHU�LQL�DGDODK SHPDKDPDQ�NRQVHS�VLVZD�PHQJDODPL�SHQLQJNDWDQ�
GHQJDQ� PHQHUDSNDQ� SHPEHODMDUDQ� EHUPDNQD� PHODOXL� PHWRGH� GLVNXVL� 6DUDQ�
GLWXMXNDQ�NHSDGD�JXUX�XQWXN�PHQJKDGLUNDQ�SHPEHODMDUDQ�EHUPDNQD�\DLWX�GHQJDQ�
PHPSHUKDWLNDQ�DORNDVL�ZDNWX� XML YDOLGLWDV�VRDO��PHQJHFHN�NHOHQJNDSDQ�GDWD�GDQ�
PHODNXNDQ�SHQHOLWLDQ�ODQMXWDQ�
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